3apnava I. ABTonpober

3a AeHb MallMHa Npoe3XaeT N KMINoMeTpoB. CKONMbKO AHEN HYXXHO,
4yTOObI MpPOEXxaTb MApPLUPYT AJIMHON M KNIOMETPOB?

BxoaHble AaHHble N Y —
[TfporpamMMa NoJsiy4aeT Ha BXo4 4ncia n u m (uenbie, N
NONOXUTENbHbIE). > & =

BbiXOoAHbIE AaHHbIE a = int (input ()) T } |

BbiBeanTe oTBET Ha 3a4audy. b = int (input ()) SN
c =0 [
anMepr while (b>0):
BXOAHblE AAdHHDbIE )
700 b=b-a oenartb OKpyrrieHue B 00nbLUYIO
729 cmer CTOPOHY
BbIXOAHblE AaHHbIE print (e) if b%a==0:
; orint(b//a)
BXO4AHblE AAdHHDbIE 21 0 700 O else
700 — '
2100 00% print(b//a + 1)
BbIXOAHbIE AAdHHbIE
3
aenaTb OKpyrreHune B 00SbLUYIO
CTOPOHY
750//700=1
749//700=1 MCTMOPTUTb YWACITTEIb
2100//700=3 print((b-1)//a+1)

2099//700=2



